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1. Answer the following as directed : 1x3=3

(@) Name the border country of the knot of
high mountains of the Pamirs along
with Tajikistan and Afghanistan.

(b) The ‘Anglo-America’ of North America
consists of Canada and — .

(Fill in the blank)
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(2)

() What is the largest basin area of the
world of the tropical rainforest situated
in South America?

2. Give short notes of the following (within
120 words each) : ~ 3x3=9

(a) The monsoon Asiatic lands
(b) Agricultural belts of the USA

(c) Coffee cultivation in Brazil

UNIT—I
( Asia )

( Question to be answered within 450 words )

3. Give a geographical account of various types

of vegetation of Asia found in the major

climatic regions. 12

Or
Explain why the greater part of the

population of Asia is found on the southern
and eastern margins of the continent.
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(3)

UNIT—II
{ North America )

( Question to be answered within 450 words )

4. Divide North America into major
physiographic divisions and explain any one

of them. 5+7=12
Or
Give an account of the mineral production of
North America. 12
UNIT—III

( South America )

( Question to be answered within 450 words )

5. Divide South America into main
physiographic divisions, each stretching from
north to south and explain any one of them.

 6+6=12
Or
Give an account of the racial elements of the
population of South America. 12
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